@s The Chain Rule Da@

Ex 1) Let f(u) = u3 +u Find (f-g)’
u = g(x) = 4x
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Ex 2) Given
f)=2 f'@Q=3 f@)=-4
g(1)=2 g'(1)=-3 9'(2)=5

f h(x) = f(g(x))

Find (1) = Coa)x) %&\\- () i(*ﬂ
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Ex3) x = 3cos (2t) -j‘—,’:-r‘.’:sm(at)-’).
y = 2sin (3t) == sin(at)

Finddy |\ t=m/3
dx
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Ex4) x=3t2+2 A¥_ /4

y:'|'3 Q‘J=3‘E’-

Find dy ot
dx
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dx d X7y (
= )sinGd) .cos () - 3~ —$~
= Gx* sin(®X cos (%)
2. f(x) = sec (2x). Find f'(11/6)
'((k\-lSec Gaytan(a) = ) ac.c y!)-l..al')

=d-A-J3

3. Write an equation for the tangent e
graph o y?i)‘((1 YZxﬁat (1, 1)

A. y=2x+1 B. y=-4x+5
C.y=-2x-2 @y=5x-4
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4.

y=

(1 + cos2 (7x))3 (| + (COS(‘?x)\ )
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